
 

HINDI 1-25 

1.Answer- (A) 

मागधी उस प्राकृत का नाम है जो प्राचीन काल 

में मगध (दक्षिण क्षिहार) प्रदेश में प्रचक्षलत थी। इस भाषा के 

उल्लेख महावीर और िदु्ध के काल से क्षमलते हैं। जैन 

आगमों के अनसुार तीथथकर महावीर का उपदशे इसी भाषा 

अथवा उसी के रूपाांतर अधथमागधी प्राकृत में होता 

था। पाक्षल क्षिक्षपटक में भी भगवान ्‌ िदु्ध के उपदशेों की भाषा 

को मागधी कहा गया ह।ै 
2.Answer-(D) 

अवधी, िांगरू और कन्नौजी टीनो ही क्षहांदी भाषा ह ैअवधी 

भाषा ज़्यादातर उत्तर प्रदशे में िोली जाती ह।ै िांगरू भाषा 

का प्रयोग हम अरुणाचल प्रदशे में करते हैं और कन्नौजी 

भी कन्नौज में िोली जाती है। ये तीनो ही क्षहांदी भाषा से ही 

जरुी हुई ह।ै पर तेलगु ुका क्षहांदी से कोई मेल नहीं। 
3.Answer-(D) 
ब्रजभाषा भक्षिकाल की समदृ्ध भाषा ह ैजो की ब्रज प्रदशे 

अथाथत मथरुा एवां उसके आस-पास के िेिो में िोली जाती 

ह।ै कृष्ण भक्षि धरा के कक्षवयों ने काव्य भाषा के रूप में 

इसका प्रयोग क्षकया था। ब्रजभाषा ब्रज िेि से क्षनकलकर 

िाांग्ला ,महाराष्ट, राजस्थान एवां पांजाि तक पहुांच गयी थी। 
4.Answer-(A) 

क्षहन्दी सांवैधाक्षनक रूप से भारत की राजभाषा और भारत 

की सिसे अक्षधक िोली और समझी जान े

वाली भाषा ह।ै क्षहन्दी भारत की राष्रभाषा नहीं ह ैक्योंक्षक 

भारत के सांक्षवधान में क्षकसी भी भाषा को ऐसा दजाथ नहीं 

क्षदया गया ह।ै एथनोलॉग के अनसुार क्षहन्दी क्षवश्व की तीसरी 

सिसे अक्षधक िोली जान ेवाली भाषा है। 
5.Answer- (C) 

यक्षद वह पररश्रम करता तो सफल हो जाता। ' रचना 

के आधार पर यह वाक्य एक क्षमश्र वाक्य होगा, क्योंक्षक 

इस वाक्य में एक प्रधान वाक्य ह ैऔर एक आक्षश्रत 

उपवाक्य है। क्षमश्र वाक्य में एक प्रधान वाक्य होता ह ैऔर 

एक या एक से अक्षधक आक्षश्रत उपवाक्य होते हैं। 
6.Answer- (C) 

“ईश्वर तमु्हें सफलता प्रदान करे।” वाक्य में कोई व्यक्षि 

क्षकसी अन्य व्यक्षि के क्षलए इच्छा व्यि कर रहा ह।ै इस 

प्रकार यह 'इच्छावाचक' वाक्य ह।ै 
7.Answer-(C) 

'नक्षहां पराग नक्षहां मधरु मध,ु नही क्षवकास इक्षह काल। अली 

कली ही सौं क्षिध्यों, आगे कौन हवाल।। प्रस्ततु पांक्षियों में 

अन्योक्षि अलांकार है। 
8.Answer- (A) 
गणुवाचक क्षवशेषण शब्द (Gunvachak Visheshan Shabd) 

लाल, पीला, नीला, हरा, कला, सफेद, सनुहरी, 

चमकीला, धुुँधला, फीका इत्याक्षद. दिुला, पतला, मोटा, 

गीला, सखूा, क्षपघला, घना, ग़रीि, अमीर, पालतू, रोगी, 

स्वस्थ, िीमार, कच्चा इत्याक्षद. 
9.Answer- (A) 
िुक्षद्धमान  
10.Answer- (D) 
क्षनक्षनथमेष 
11.Answer-(C) 

पिु की हरकतों से तांग आकर क्षपता ने उसे ' क्षतलाांजक्षल द े

दी '। क्षतलाांजक्षल द ेदी महुावरे का अथथ ' सम्िन्ध तोड़ लेना 

' ह।ै 
12.Answer- (A) 

‘क्षकसी क्षवषय की परूी छानिीन’ इस वाक्याांश के क्षलए एक 

शब्द ‘क्षववेचन’ होगा। क्षदए गए अन्य क्षवकल्प इसके 

असांगत उत्तर हैं। 

अन्य क्षवकल्प- 
1. समीिा – गणु दोष का क्षववेचन 

2. व्याख्या – क्षकसी चीज का क्षववरण 

3. क्षलप्सा - पाने की इच्छा 

13.Answer- (A) 

अक्षकां चन वह होता ह ैक्षजसके पास कुछ नहीं होता अथवा 

जो क्षनधथन होता ह।ै अत- सही क्षवकल्प अक्षकां चन ही होगा। 
14.Answer- (D) 

पहुांच 

15.Answer- (A) 

अल्प क्षवराम ( , ) – अल्प क्षवराम का अथथ है-थोड़ा 

क्षवराम। 

https://hi.wikipedia.org/wiki/%E0%A4%AA%E0%A5%8D%E0%A4%B0%E0%A4%BE%E0%A4%95%E0%A5%83%E0%A4%A4
https://hi.wikipedia.org/wiki/%E0%A4%AE%E0%A4%97%E0%A4%A7_%E0%A4%AE%E0%A4%B9%E0%A4%BE%E0%A4%9C%E0%A4%A8%E0%A4%AA%E0%A4%A6
https://hi.wikipedia.org/wiki/%E0%A4%AE%E0%A4%B9%E0%A4%BE%E0%A4%B5%E0%A5%80%E0%A4%B0
https://hi.wikipedia.org/wiki/%E0%A4%97%E0%A5%8C%E0%A4%A4%E0%A4%AE_%E0%A4%AC%E0%A5%81%E0%A4%A6%E0%A5%8D%E0%A4%A7
https://hi.wikipedia.org/wiki/%E0%A4%86%E0%A4%97%E0%A4%AE_(%E0%A4%9C%E0%A5%88%E0%A4%A8)
https://hi.wikipedia.org/wiki/%E0%A4%86%E0%A4%97%E0%A4%AE_(%E0%A4%9C%E0%A5%88%E0%A4%A8)
https://hi.wikipedia.org/wiki/%E0%A4%AA%E0%A4%BE%E0%A4%B2%E0%A4%BF_%E0%A4%AD%E0%A4%BE%E0%A4%B7%E0%A4%BE
https://hi.wikipedia.org/wiki/%E0%A4%A4%E0%A5%8D%E0%A4%B0%E0%A4%BF%E0%A4%AA%E0%A4%BF%E0%A4%9F%E0%A4%95


 

16.Answer- (C) 

योजक क्षचन्ह का क्षचन्ह (-) होता ह।ै क्षहांदी में अल्प क्षवराम 

क्षचन्ह के िाद योजक क्षचह्न का प्रयोग सिसे अक्षधक क्षकया 

जाता ह।ै योजक का अथथ क्षमलाने वाला या जोड़न ेवाला 

होता ह।ै अतः दो शब्दों के मध्य अथथ में स्पष्टता लाने के 

क्षलए योजक क्षचन्ह का प्रयोग क्षकया जाता ह।ै 
17.Answer- (B) 

व्यक्षिवाचक सांज्ञा,जाक्षतवाचक सांज्ञा,समहूवाचक सांज्ञा,द्रव्य

वाचक सांज्ञा,भाववाचक सांज्ञा 

18.Answer- (A) 

किीरा सोई पीर ह ै, जो जानै पर पीर। जो पर पीर न जानई 

, सो काक्षफर िेपीर ॥ इस दोहे में यमक अलांकार है। 
19.Answer-(D) 

वहाां पर अक्षतशयोक्षि अलांकार होता ह।ै ऊपर की पांक्षि में 

एक गोपी अपनी सखी से कह रही ह ैक्षक हमारे सांदशेों से 

मथरुा के कुयें भर गए अथाथत उसने अपने सांदशेों के सांिांध 

में िढा-चढाकर वणथन क्षकया ह ैइस कारण यहाां पर 

अक्षतशयोक्षि अलांकार होगा। 
20.Answer-(A) 

पट - पीत मानहुां तक्षड़त रुक्षच, सकु्षच नौक्षम जनक सतुावरां में 

अलांकार भेद िताइयें - उपयुथि पांक्षियों में उपमा 

अलांकार ह।ै उपमा अलांकार में प्रस्ततु वस्तु की क्षकसी 

अप्रस्ततु वस्त ुके गणु, रुप एवां धमथ से तुलना की जाती ह।ै 

21.Answer- (C) 
अननुाक्षसक स्वर 

क्षजन स्वरों के उच्चारण में मुख के साथ-साथ नाक्षसका 

(नाक) की भी सहायता लेनी पड़ती है,अथाथत  क्षजन स्वरों 

का उच्चारण मुख और नाक्षसका दोनों से क्षकया जाता ह ैवे 

अननुाक्षसक कहलात ेहैं। हुँसना, आुँख, ऊुँ ट, मैं, हैं, सरसों, 

परसों आक्षद में चन्द्रक्षिन्द ुया केवल क्षिन्द ुआया ह ैवह 

अननुाक्षसक ह।ै 
22.Answer- (D) 

क्षजन स्वरों के उच्चारण में मखु के साथ-साथ नाक्षसका (नाक) की 

भी सहायता लनेी पड़ती ह,ैअथाथत  क्षजन स्वरों का उच्चारण मखु 

और नाक्षसका दोनों से क्षकया जाता ह ैवे अनुनाक्षसक कहलाते 

हैं। हुँसना, आुँख, ऊुँ ट, मैं, हैं, सरसों, परसों आक्षद में चन्द्रक्षिन्द ुया 

केवल क्षिन्द ुआया ह ैवह अनुनाक्षसक ह।ै 

23.Answer-(D) 

रहीमन जो गक्षत दीप की, कुल कपतू गक्षत सोय। िारे 

उक्षजयारे लग,ै िढै अांधेरो होय। उपयुथि पांक्षियों में 

शे्लष अलांकार है। यहाां प्रस्ततु 'दीप के जलने' में अप्रस्ततु 

'िरेु पिु' का आरोप क्षकया गया ह।ै 
24.Answer- (C) 
तालव्य क्षजन व्यांजनों के उच्चारण में क्षजह्वा का अग्र 

कठोर ताल ुको स्पशथ करता है, तालु व्यांजन कहलाते हैं। 

जैस े- च, छ, ज, झ, ञ और श, य। अतः सही क्षवकल्प 

'ताल'ु ह।ै 
25.Answer- (B) 

अतः सही क्षवकल्प '"k है 

ENGLISH 26 - 50 

26.Answer- (b) 

27.Answer- (b) 

28.Answer- (c) 

29. ANSWER-(c) 

Sol. The answer is option c. 

The given sentence is of direct speech. 

The reporting verb SAID remained 

unchanged. 

Present indefinite tense is changed to past 

indefinite tense. 

The sentence thus formed is- They said 

that they took exercise every day. 

30. Ans.(a) 

Sol. The answer is option a. 

Square off – It is an idiomatic expression 

which means, ‘To fight, argue, or begin a 

conflict or competition.’ 

Option a conveys the same meaning as that 

of the given idiom & hence it is the 

choice.  

31. Ans.(c) 

Sol. The answer is option c. 

Accretion – The process of growth or 

enlargement by a gradual build-up- such as 

increase by external addition or 

accumulation. 

Synonyms – Accumulation, Assemblage, 

Collection, Cumulation. 

Antonyms – Drop, Deduction, Abatement, 

Fall, Decrease. 

32. Ans.(d) 



 

Sol. The answer is option d. 

Mayhem – needless or willful damage or 

violence, a situation in which there is little 

or no order or control. 

Option d conveys the same meaning as that 

of the given word & hence it is the choice. 

33. Ans.(c) 

Sol. The answer is option c. 

Gripe – Complain about something in a 

persistent, irritating way. 

Synonyms – Complain, Grumble, Protest, 

Distress. 

Antonyms – Compliment, praise. 

34.Answer- (c) 

I gave him all the money that I had 

35.Answer- (b) 

Ashish is the man whose son won the 

scholarship 

36.Answer- (a) 

Where does your sister live? 

37.Answer- (c) 

The strict judge punished his corrupt clerk. 

(a) His corrupt clerk is punished by the 

strict judge. (Tense has changed) 

(b) His corrupt clerk is being punished by 

the strict judge. (Tense has changed) 

(c) His corrupt clerk was punished by the 

strict judge. (Correct) 

(d) His corrupt clerk was being punished 

by the strict judge. (Tense has changed) 

38.Answer- (a) 

She made the students laugh. 

(a) The students were made to laugh. 

(Correct) 

(b) The students were made laughing. 

(Tense has changed) 

(c) She was making students laugh.(Tense 

has changed) 

(d) She was made to laugh by students. 

(Insubject) 

39.Answer- (b) 

40.Answer- (b) 

41.Answer- (b) 

42.Answer- (c) 

43.Answer-  A 

Everywhere the people rose in rebellion. 

The British fought back. Thousands of 

people were killed on both sides. In March 

1858 British troops attacked the fort of 

Jhansi. 

44.Answer-  B 

She sat all day in a little room off the main 

drawing room. It was a little room with 

nothing in it but a few chairs and a rug. 

She would sit on the rug and do needle 

work. She was very good at that. 

45.Answer- C 

You hadn't written for over a month. How 

did your exams go? I am sure you will 

come out with flying colours. After your 

result, you must come here for a week. 

46. Answer - C 

47.Answer - A 

48. Answer - B 

49.Answer - B 

50.Answer - B 

MATHS 51 - 75 

51.Answer- (c) 

Expression 

= 25 - 5 [2 + 3 {2 - 2(5 - 3) + 5} - 10] ÷ 4 

= 25 - 5 [2 + 3 {2 - 2 × 2 + 5} - 10] ÷ 4 

= 25 - 5 [2 + 9 - 10] ÷ 4 

= 25 - 5 ÷ 4 = 25 -  

5 

4 

=  

100−5 

4 

= 

95 

4 

=23.75 

52.Answer- (b) 

Using Rule 1, 

? = 1 - [5 - {2 + (–1)2}] 

= 1 - [5 - {2 - 2}] 

= 1 - [5 - 0] 

= 1 - 5 = - 4 

53.Answer- (d) 

2 1944 



 

2 972 

2 486 

3 243 

3 81 

3 27 

3 9 

 3 

1944 = 2×2×2×3×3×3×3×3 = 23×33×32 

Clearly, 1944 should be multiplied by 3 to 

make the result a perfect cube. 

54.Answer- (c) 

Hence, if there is no leak, the inlet pipe 

will fill the tank in 24 hours. 

Capacity of the tank 

= 24 × 60 × 4 = 5760 litres 

55.Answer- (c) 

Part of the cistern filled by pipes A, B and 

C in 1 hour =  

1 

6 

Part of the cistern filled by all three pipes 

in 2 hours =  

1 

3 

 part of the cistern in 7 hours 

Pipe A and B will fill the cistern in  

7×3 

2 

= 

21 

2 

 hours 

1 

14 

Pipe C will fill the cistern in 14 hours. 

56.ANSWER- 385 

(12 + 22 + ….. + n2) = (1/6) n(n + 1) (2n + 

1) 

Here, n = 10 

Therefore, 

(12 + 22 + ….. + 102) = (1/6) 10 (10 + 1) ( 2 

x 10 + 1) 

= (1/6) x 10 x 11 x 21 

= 385 

57.ANSWER- 31000 

log3x = 10 

Hence,x= 310 

logx y = 100 

y =x100 = (310)100= y = 31000 

58.ANSWER- 10 

Let the number of articles of types P, Q 

and R be 3a, 2a and 3a respectively. 

Thus, we get, 

(200 x 3a) + (90 x 2a) + (60 x 3a) = 4800 

960a = 4800 

a = 5 

Hence, the number of articles of type “Q” 

= 2x5 = 10 

59.ANSWER- Rs. 146.66 

Required difference = (4 (1/3) of Rs. 8000) 

- (2 (1/2) of Rs. 8000) 

= (13/3 – 5/2) % of Rs. 8000 

= (11/6) x (1/100) x 8000 

= Rs. 146.66 

60.ANSWER- 7 - 1 

Given- a/b = 2/3 

(3a + 5b) / (3a – b) 

= [3(a/b) +5] / [3(a/b) – 1] 

= [3(2/3) +5] / [3(2/3) – 1] 

= 7/1 

61.ANSWER- 5 

(P + Q)'s 1 day's work = 1/4, P's 1 day's 

work = 1/20 

Q's 1 day's work = (1/4 – 1/20) = (4/20) = 

(1/5) 

Hence, Q alone can complete the work in 5 

days. 

62.ANSWER- 40 m 

Let the length of the train be x meters. 

Therefore (x + 160)/20 = (x + 110)/15 = 

15(x + 160) = 20(x+110) 

x = 40 m 

63.ANSWER- 7 km / hr 

Rate downstream = (20/2) kmph = 10 

kmph; 

Rate upstream = (20/5) kmph = 4 kmph 

Speed in still water = 1/2 (10 + 4) kmph = 

7 kmph 



 

64.ANSWER- 52 

Suppose the worker remained idle for m 

days. Then, he worked for (60 - m) days. 

30 (60 - m) – 5m = 500 

1800 – 25m = 500 

25m = 1300 

m = 52 

So, the worker remained idle for 52 days. 

65.ANSWER- 10% p.a. 

Given- 800 = (P * R * 2) / 100 

S.I. For 1 year = Rs. 400 

Thus, (840 – 800) = S.I. on Rs. 400 for 1 

year 

40 = (400 * R * 1) / 100 

R = 10% p.a. 

66.ANSWER- 4 

The sum of the roots of the quadratic 

equation ax2 - bx + c = 0 are (-b/a) and 

the product of the roots are (c/a). 

Thus, in the equation ax2 - 11x + 40 = 0, 

where a = a, b = - 11 and c = 40. 

we get, sum of the roots = - (- 11) / a = 1.1 

a = 11 / 1.1 = 10 

Product of the roots = 40 / 10 = 4 

67.ANSWER- 12 

We have, 2/3 * 2/5 * 3/4 * X = 36 

X = 180 

Now, 4/5 * X = 4/5 * 180 = 144 

√144 = 12 

68.ANSWER- 35.844 

Given exp. = √1.2 +√1200 +√0.0120 = 

√120/100 +√12*100 + √120/10000 

= (√120)/10 + √12 * 10 + (√120)/100 = 

10.95/10 + 3.464 * 10 + 10.95/100 

= 1.095 + 34.64 + 0.1095 

= 35.8445 

69.ANSWER- 24 years 

Let the present ages of A and B be 3x 

years and 5x years respectively. 

5x – (3x + 4) = 2 

2x = 6 

x = 3. 

Therefore, 

Required sum = 3x + 5x = 8x = 24 years 

70.ANSWER- 3451.21 

Given exp. = 3500 - ((1000 ÷ 2050) * 100) 

= 3451.21 

71.ANSWER- 75 

We have , A = B + 20 & C = A + 55 = B + 

75 

Thus, (B + 20) + (B) + (B + 75) = 230 

B = 45 

Thus, A = 65 & C = 120. Hence, (C) – (B) 

= 120 – 45 = 75 

Short-Cut Method - Since C is larger than 

A by 55 and A is larger than B by 20, we 

get, the Required difference = 55 + 20 = 75 

(without calculating the actual values of A, 

B and C). 

72. Answer- Option c 

Solution- 

Ratio of selling price and Cost Price, 

SP - CP = 12 - 9 =4 - 3 

Profit of 3 oranges = Rs. 1                       

(Let CP = Rs. 1) 

Profit = 1/3 = 33.33% 

and, Discount = 11.11% 

Since,CP - SP - MP = 3 - 4 - 4.5 

Profit doubles that of discount. 

So, % point discount = 33.33% - 11.11% = 

22.22% point. 

73.ANSWER- 3315 

Since we require minimum number of 

square tiles, the size of the tile is given as 

the H.C.F. of two sides of the room. The 

H.C.F. Of 1625 cm & 1275 cm. is 25 cms. 

Hence, we get, 

Required Number = (1625 * 1275) / (25 * 

25) = 3315 

74. ANSWER - 25.71 cm 

Volume of one sphere = 4 / 3× 3 × (23) = 

32 cm3 

[Volume of the sphere = 4 / 3π (r3).] 

Volume of 15 spheres = 15 × 32 = 480 

cm3 

[Multiply.] 

Volume of water in the jar = 3 × (152) × 

25 = 16875 cm3 

[Volume of the cylinder = π (r2) h.] 

Total volume of water + balls(V) ⇒ 480 + 

16875 = 17355 cm3 



 

[Simplify.] 

Volume of the water in the cylinder when 

spherical balls are immersed = 17355 cm3 

⇒ 3 × (15)2 h = 17355 cm3 

Height to which water is filled in the jar ⇒ 

173553 × (15)² = 25.71 cm 

75.ANSWER- 233 

We have, P * Q = (P2 + Q2) ......... Given 

8 * (3 * 2) = ? 

8 * 13 = (64 +169) = 233 

 

SCIENCE 76 – 100 

76.ANSWER-D 

On 1 March, 2021, the second phase of 

vaccination started in India that allows all 

Indians above the age of 60 and Indians 

between the age of 45 and 59 with 

comorbidities to be vaccinated. 

77.ANSWER-D 

Black Fungus or Mucormycosis symptoms 

include facial swelling, nasal congestion, 

and headache. If the lungs are infected then 

the symptoms include fever, cough, and 

shortness of breath. 

78.ANSWER-A 

 Due to their crown-like projections on the 

surfaces coronaviruses got their name. The 

virus resembles a crown when viewed 

under an electron microscope. "Corona” in 

Latin means "halo" or "crown". 

79.ANSWER-B 

After one saros cycle of 18 years 11days 8 

hours, the pattern of eclipses repeats. 

80.ANSWER - A 

In 88Ra226 nucleus, there are. 138 protons 

and 88 neutrons. 

81.ANSWER - B 

alpha - rays possess positive charge and 

beta - rays possess negative charge. 

82.ANSWER-D 

Surgery, Chemotherapy, and Radiation 

therapy are the most common types of 

treatment for cancer. In Surgery, cancer is 

removed from the part of the body as much 

as possible. In Chemotherapy, with the 

help of medicines, toxic cells that are 

rapidly dividing cancer cells are killed. 

And in Radiation therapy, powerful 

radiation is used in the body to kill the 

cells of cancer. 

83.ANSWER-B 

It is seen that the majority of the people 

who suffer from Liver Cancer seem 

healthy and show no early signs or 

symptoms and so, is known as The Silent 

Killer. Therefore, we can say that there are 

various types of cancers that occur in the 

human body with several symptoms. 

India faces a serious threat from the 

condition of those who pass away from 

cancer. 8.5 lakh people in India passed 

away from cancer in 2020. National 

Cancer Awareness Day 2020 is observed 

annually on November 7 in order to 

increase public awareness around cancer 

and its fatality rate, 

84.ANSWER - C 

Froth flotation method is generally used 

for the concentration of sulphide ores. 

85.ANSWER - C 

The most fundamental characteristic of an 

element that forms the basis of the 

classification of elements in the modern 

periodic table is Atomic Number. 

Mendeleev's law says that the properties of 

the elements are periodic functions of their 

atomic numbers. 

86.ANSWER-A 

(a) The short fibres of a neuron are known 

as the dendrites. (b) The long fibre of a 

neuron is known as the axon. 

87.ANSWER-B 

The non-directive growth movements of 

plants, wherein the direction of stimulus is 

not the determinant of the direction of 

movement, are known as nastic 

movements. These movements always 

occur in one direction. Examples- 

Seismonasty, photonasty, thermonasty etc. 

88.ANSWER - A 

The fresh and starting element will have 

the similar atomic number. So by Group 



 

displacement law position of the fresh and 

daughter element in the periodic table will 

remain as it was earlier. The law which is 

explained above “Group Displacement 

Law” was specified in 1913 by Fajan and 

Soddy. 

89.ANSWER - C 

90.ANSWER - C 

91.Answer- B 

Variable resistance. A rheostat is also 

known as a variable resistance. 

92.ANSWER - B 

the current is inversely proportional to the 

resistance. 

93.Answer- C 

The current generated due to this emf is 

known as induced current. 

94.Answer- A 

To reverse the rotation of the induction 

motor ,we need to change its rotating 

magnetic field direction . 

95.ANSWER-C 

Trypsin enzyme is used in making Baby 

Foods. 

96.ANSWER-A 

Enzyme is a protein manufactured by a cell 

and is a catalyst in various biological 

functions. In the late 1800’s the term 

enzyme was coined by a German 

physiologist Wilhelm Kunhe. He used the 

term “enzym” to describe the unorganised 

ferment from yeast and other organisms. 

Further, the word was later given to the 

actual agents discovered to spark the 

reactions, taken from the Greek enzymos, 

which meant "leavened." (Leavening 

makes bread rise). 

97.Ans- C 

98.ANSWER-D 

Salivary amylase breaks down starch in 

humans at optimum pH of 6.7. 

99.ANSWER - A 

The substance (element) obtained after 

emission of a beta-particle from 11Na22 

is Mg 

100.ANSWER-D 

Viruses do not contain ribosomes, so they 

cannot make proteins. That is why they are 

dependent on their host. Viruses have 

different shapes, sizes and can be 

categorised by their shapes. 

 
76- mÙkj- Mh 

1 ekpZ] 2021 dks] Hkkjr esa Vhdkdj.k dk nwljk 

pj.k 'kq- gqvk] tks 60 o"kZ ls vfèkd vk;q ds 

lHkh Hkkjrh;ksa vkSj 45 ls 59 o"kZ dh vk;q ds 

chp ds Hkkjrh;ksa dks Vhdk yxkus dh vuqefr 

nsrk gSA 

77- mÙkj- Mh 

CySd Qaxl ;k E;wdksfeZdksfll ds y{k.kksa esa 

psgjs dh lwtu] ukd dh HkhM+ vkSj fljnnZ 

'kkfey gSaA ;fn QsQM+s laØfer gSa rks y{k.kksa esa 

cq[kkj] [kkalh vkSj lkal dh rdyhQ 'kkfey gSaA 

78- mÙkj- , 

 lrgksa ij muds eqdqV tSls vuqekuksa ds dkj.k 

dksjksufo;Zwt+ dks mudk uke feykA bysDVª‚u 

ekbØksLdksi ds uhps ns[kus ij ok;jl ,d 

eqdqV tSlk fn[krk gSA ySfVu esa dksjksuk dk 

vFkZ gS çHkkeaMy ;k eqdqtA 

79- mÙkj- ch 

18 lky 11 fnu 8 ?kaVs ds ,d ljks pØ ds 

ckn xzg.kksa dk iSVuZ nksgjkrk gSA 

80- mÙkj - v 

88Ra226 esa ukfHkd gksrs gSaA 138 çksV‚u vkSj 88 

U;wVª‚uA 

81-mÙkj - ch 

vYQk&fdj.kksa esa èkukRed vkos'k gksrk gS vkSj 

chVk&fdj.kksa ij _.kkRed vkos'k gksrk gSA 

82- mÙkj- Mh 

ltZjh] dheksFksjsih vkSj jsfM,'ku Fksjsih dSalj ds 

fy, lcls vke çdkj ds mipkj gSaA ltZjh esa 

'kjhj ds ftl fgLls ls gks lds dSalj dks nwj 

fd;k tkrk gSA dheksFkSjsih esa nokvksa dh enn 

ls dSalj dksf'kdkvksa dks rsth ls foHkkftr djus 

okyh tgjhyh dksf'kdkvksa dks ekj fn;k tkrk 

gSA vkSj jsfM,'ku Fksjsih esa dSalj dh dksf'kdkvksa 

dks ekjus ds fy, 'kjhj esa 'kfä'kkyh jsfM,'ku 

dk bLrseky fd;k tkrk gSA 

83- mÙkj- ch 



 

;g ns[kk x;k gS fd fyoj dSalj ls ihfM+r 

vfèkdka'k yksx LoLFk fn[krs gSa vkSj dksbZ 

'kq#vkrh y{k.k ;k y{k.k ugha fn[kkrs gSa vkSj 

blfy, bls n lkbysaV fdyj ds -i esa tkuk 

tkrk gSA blfy,] ge dg ldrs gSa fd ekuo 

'kjhj esa fofHkUu çdkj ds dSalj gksrs gSa ftuds 

dbZ y{k.k gksrs gSaA 

Hkkjr mu yksxksa dh fLFkfr ls xaHkhj [krjs dk 

lkeuk djrk gS ftudh dSalj ls e`R;q gks tkrh 

gSA Hkkjr esa 2020 esa 8-5 yk[k yksxksa dh dSalj 

ls e`R;q gks xbZA jk"Vªh; dSalj tkx-drk fnol 

2020 çfro"kZ 7 uoacj dks euk;k tkrk gS rkfd 

dSalj vkSj bldh e`R;q nj ds ckjs esa tu tkx-

drk c<+kbZ tk ldsA 

84- mÙkj - lh 

lYQkbM v;Ldksa ds lkaæ.k ds fy, >kx 

Iyou'khyrk fofèk dk ç;ksx fd;k tkrk gSA 

85- mÙkj - lh 

vkèkqfud vkorZ lkj.kh esa rRoksa ds oxÊdj.k dk 

vkèkkj cukus okys rRo dh lcls ekSfyd 

fo'ks"krk ijek.kq la[;k gSA esaMsyho dk fu;e 

dgrk gS fd rRoksa ds xq.k muds ijek.kq 

Øekadksa ds vkorZ Qyu gksrs gSaA 

86- mÙkj- , 

¼,½ ,d U;wj‚u ds NksVs rarqvksa dks MsUMªkbV~l ds 

-i esa tkuk tkrk gSA ¼ch½ ,d U;wj‚u ds yacs 

Qkbcj dks v{krarq ds -i esa tkuk tkrk gSA 

87- mÙkj- ch 

ikSèkksa ds xSj&funZs'kkRed fodkl vkanksyuksa] 

ftlesa mÙkstuk dh fn'kk vkanksyu dh fn'kk dk 

fuèkkZjd ugha gS] ukfLrd vkanksyuksa ds -i esa 

tkuk tkrk gSA ;s gypysa ges'kk ,d fn'kk esa 

gksrh gSaA mnkgj.k- flLeksusLVh] QksVksuSLVh] 

FkekZsusLVh vkfnA 

88- mÙkj - , 

u, vkSj çkjafHkd rRo dh ijek.kq la[;k leku 

gksxhA vr% lewg foLFkkiu fu;e ds vuqlkj 

vkorZ lkj.kh esa rktk vkSj iq=h rRo dh fLFkfr 

igys tSlh gh jgsxhA ftl dkuwu dks "lewg 

foLFkkiu dkuwu" ds Åij le>k;k x;k gS] og 

1913 esa Qtku vkSj lksìh }kjk fufnZ"V fd;k 

x;k FkkA 

89- mÙkj - lh 

90- mÙkj - lh 

91- mÙkj - ch 

ifjorZuh; çfrjksèkA ,d fjvksLVsV dks ifjorÊ 

çfrjksèk ds -i esa Hkh tkuk tkrk gSA 

92- mÙkj - ch 

èkkjk çfrjksèk ds O;qRØekuqikrh gksrh gSA 

93- mÙkj- lh 

bl bZ,e,Q ds dkj.k mRiUu èkkjk dks çsfjr 

èkkjk ds -i esa tkuk tkrk gSA 

94- mÙkj - v 

çsj.k eksVj ds ?kw.kZu dks myVus ds fy,] gesa 

bldh ?kw.kZu pqacdh; {ks= fn'kk cnyus dh t-

jr gSA 

95- mÙkj- lh 

fVªfIlu ,atkbe dk mi;ksx csch QwM~l cukus esa 

fd;k tkrk gSA 

96- mÙkj- , 

,atkbe ,d dksf'kdk }kjk fufeZr çksVhu gS vkSj 

fofHkUu tSfod dk;ksZa esa mRçsjd gSA 1800 ds 

var esa ,atkbe 'kCn ,d teZu fQft;ksy‚ftLV 

foYgse dqUgs }kjk x<+k x;k FkkA mUgksaus [kehj 

vkSj vU; thoksa ls vlaxfBr fd.ou dk o.kZu 

djus ds fy, ",atkbe" 'kCn dk bLrseky 

fd;kA blds vykok] ;g 'kCn ckn esa xzhd 

,atkbeksa ls yh xbZ çfrfØ;kvksa dks fpaxkjh nsus 

ds fy, [kksts x, okLrfod ,tsaVksa dks fn;k 

x;k] ftldk vFkZ "[kehj" FkkA ¼[kehj mBus ls 

jksVh Qwy tkrh gS½A 

97- mÙkj% lh 

98- mÙkj- Mh 

lsfyojh ,ekbyst 6-7 ds b"Vre ih,p ij 

euq";ksa esa LVkpZ dks rksM+rk gSA 

99- mÙkj - , 

11Na22 ls ,d chVk&d.k ds mRltZu ds ckn 

çkIr inkFkZ ¼rRo½ Mg gS 

100- mÙkj- Mh 

fo"kk.kqvksa esa jkbckslkse ugha gksrs] blfy, os 

çksVhu ugha cuk ldrsA blfy, os vius 

estcku ij fuHkZj gSaA ok;jl ds vyx&vyx 

vkdkj] vkdkj gksrs gSa vkSj mUgsa muds vkdkj 

ds vuqlkj oxÊ—r fd;k tk ldrk gSA 

 

Computer 101-125 

101.Answer- (b) 



 

Video Graphics Array VGA is an analogue 

interface between a PC and monitor that 

was widely used prior to DVI, HDMI and 

DisplayPort. VGA was introduced on the 

IBM PS/2 in 1987, replacing the previous 

digital CGA and EGA interfaces, which 

had lower resolution and fewer colours. 

New LCD monitors may include a VGA 

port for legacy PCs, and PCs may have a 

VGA port for legacy monitors. See DVI, 

HDMI and DisplayPort. 

102.Answer- (d) 

Personal Digital Assistants (PDAs) are 

small networked computers which can fit 

in the palm of your han(D)PDAs have 

evolved over the years, beginning with 

first-generation devices such as the Apple 

Newton (Apple coined the term “PDA”) 

and Palm Pilot. They offered features such 

as a calendar and note-taking capability. 

PDA operating systems include Apple 

iPhone OS, Symbian OS, Palm, Windows 

CE, Windows Mobile, Blackberry, and 

Google's Android, among others 

103.Answer- (d) 

The standard punched card, originally 

invented by Herman Hollerith, was first 

used for vital statistics tabulation by the 

New York City Board of Health and 

several states. After this trial use, punched 

cards were adopted for use in the 1890 

census. 

104.Answer- (b) 

Embedded computers are specially 

designed computer chips that reside inside 

other devices, such as your car or your 

electronic thermostat. 

An embedded system is a programmed 

controlling and operating system with a 

dedicated function within a larger 

mechanical or electrical system, often with 

real-time computing constraints. It is 

embedded as part of a complete device 

often including hardware and mechanical 

parts. 

Embedded systems tutorial includes. 

Embedded systems are a cornerstone of the 

electronics industry today. An embedded 

system is a computer or processor-based 

system that has been designed for a 

specific purpose. 

105.Answer- (a) 

Operating system, editors, and debuggers 

comes under System Software. 

System software is computer software 

designed to provide a platform for other 

software. Examples of system software 

include operating systems like macOS and 

Windows, computational science software, 

game engines, industrial automation, and 

software as a service application. 

A debugger or debugging tool is a 

computer program that is used to test and 

debug other programs (the "target" 

program). ... For example, the program 

might have tried to use an instruction not 

available on the current version of the CPU 

or attempted to access unavailable or 

protected memory 

106.Answer- (c) 

Pixel is the smallest addressable point on a 

computer screen 

107.Answer- (d) 

Analyzing the data or information is NOT 

one of the four major data processing 

functions of a computer. 

108.Answer- (d) 

109.Answer- (b) 

110.Answer- (c) 

111.Answer- (c) 

What is IP spoofing? IP spoofing is the 

creation of Internet Protocol (IP) packets 

which have a modified source address in 

order to either hide the identity of the 

sender, impersonate another computer 

system or both. It is a technique often used 

by bad actors to invoke DDoS attacks 

against a target device or the surrounding 

infrastructure. 

112.Answer- (a) 

About Trojan Horse-  



 

A trojan horse is a virus that could fool a 

user to download and execute them by 

pretending to be a useful application. 

Trojan horse was once considered one of 

the most dangerous computer viruses 

which can be easily detected by computer 

users around the world. 

113.Answer- c 

114.Answer- a 

115.Ans- C 

116.Ans - A 

117.Ans- B 

118.Ans- C 

119.Answer- A [Carrier Sense Multiple 

Access] 

The most common access method of the 

bus topologies is CSMA or Carrier Sense 

Multiple Access. It is a media access 

control used to control the data flow so that 

data integrity is maintained so that the 

packets do not get lost. 

120.Answer- B [Protocol Convertor] 

A Protocol Converter is a device used to 

convert standard or proprietary protocol of 

one device to the protocol suitable for the 

other device or tools to achieve the 

interoperability. 

121.Answer- A [Network Interface Card] 

NIC stands for Network Interface Card. It 

is used to connect the computer to the 

external network. It will normally have a 

PCI connector to connect to one of the PC 

expansion slots. 

122.Answer- C [Modem] 

Modem is a device that converts digital 

signal to analog signal as a modulator and 

analog signal to digital signal as a 

demodulator. Asynchronous modem uses 

start and stop bit for synchronization 

instead of clock. 

123.Answer- B [Throughput] 

The throughput is the actual measurement 

of data that can be sent over network. It is 

different from Bandwidth which is the 

maximum amount of data that can travel 

through a network. 

124.Answer- C [Wireless adapter] 

Wireless adapters are those hardware 

devices which are installed inside 

computers to enable wireless connectivity. 

If a computer does not have a wireless 

adapter, it will not be able to connect to a 

router in order to access the Internet. 

125.Answer- A [FidoNet] 

FidoNet is a worldwide computer network 

that is used for communication between 

bulletin board systems (BBSes). It is used 

a store-and-forward system to exchange 

private (email) and public (forum) 

messages. 

 
101- mÙkj- ¼ch½ 

ohfM;ks xzkfQ+Dl ,sjs ohth, ,d ihlh vkSj 

e‚fuVj ds chp ,d ,uky‚x baVjQ+sl gS tks 

MhohvkbZ] ,pMh,evkbZ vkSj fMLIysiksVZ ls igys 

O;kid -i ls mi;ksx fd;k tkrk FkkA ohth, 

dks 1987 esa vkbZch,e ih,l@2 ij is'k fd;k 

x;k Fkk] ftlus fiNys fMftVy lhth, vkSj 

bZth, baVjQsl dks cny fn;k Fkk] ftlesa de 

fjt+‚Y;w'ku vkSj de jax FksA u, ,ylhMh 

e‚fuVj esa yhxslh ihlh ds fy, ,d ohth, 

iksVZ 'kkfey gks ldrk gS] vkSj ihlh esa yhxslh 

e‚fuVj ds fy, ohth, iksVZ gks ldrk gSA 

MhohvkbZ] ,pMh,evkbZ vkSj fMLIysiksVZ ns[ksaA 

102- mÙkj- ¼Mh½ 

O;fäxr fMftVy lgk;d ¼ihMh,½ NksVs 

usVodZ okys daI;wVj gSa tks vkids gkFk dh 

gFksyh esa fQV gks ldrs gSa ¼Mh½ ihMh, o"kksZa ls 

fodflr gq, gSa] igyh ih<+h ds midj.kksa tSls 

,sIiy U;wVu ¼,sIiy us "ihMh," 'kCn x<+k½ vkSj 

gFksyh ekxZn'kZdA mUgksaus dSysaMj vkSj uksV ysus 

dh {kerk tSlh lqfoèkkvksa dh is'kd'k dhA 

ihMh, v‚ijsfVax flLVe esa ,sIiy vkbZQksu 

vks,l] flfEc;u vks,l] ike] foaMkst lhbZ] 

foaMkst eksckby] CySdcsjh vkSj xwxy ds ,aMª‚bM 

'kkfey gSaA 

103- mÙkj- ¼Mh½ 

ekud iap dkMZ] ewy -i ls gjeu gksysfjFk }kjk 

vkfo"dkj fd;k x;k Fkk] ftldk mi;ksx igyh 

ckj U;w;‚dZ flVh cksMZ v‚Q gsYFk vkSj dbZ 

jkT;ksa }kjk egRoiw.kZ lkaf[;dh lkj.khdj.k ds 



 

fy, fd;k x;k FkkA bl ijh{k.k ç;ksx ds ckn] 

1890 dh tux.kuk esa mi;ksx ds fy, iap 

dkMksZa dks viuk;k x;kA 

104- mÙkj- ¼ch½ 

,acsMsM daI;wVj fo'ks"k -i ls fMt+kbu fd, x, 

daI;wVj fpIl gSa tks vkidh dkj ;k vkids 

bysDVª‚fud FkekZsLVsV tSls vU; midj.kksa ds 

vanj jgrs gSaA 

,d ,EcsMsM flLVe ,d cM+s ;kaf=d ;k fo|qr 

ç.kkyh ds Hkhrj ,d lefiZr dk;Z ds lkFk ,d 

Øeknsf'kr fu;a=.k vkSj v‚ijsfVax flLVe gS] 

tks vDlj jh;y&Vkbe daI;wfVax ckèkkvksa ds 

lkFk gksrk gSA ;g vDlj gkMZos;j vkSj ;kaf=d 

Hkkxksa lfgr ,d iw.kZ midj.k ds fgLls ds -i 

esa ,EcsMsM gksrk gSA 

,acsMsM flLVe VîwVksfj;y 'kkfey gSaA ,acsMsM 

flLVe vkt bysDVª‚fuDl m|ksx dh 

vkèkkjf'kyk gSaA ,d ,EcsMsM flLVe ,d 

daI;wVj ;k çkslslj&vkèkkfjr flLVe gS ftls 

,d fof'k"V mís'; ds fy, fMt+kbu fd;k x;k 

gSA 

105- mÙkj- ¼d½ 

v‚ijsfVax flLVe] ,fMVlZ vkSj fMcxlZ flLVe 

l‚¶Vos;j ds varxZr vkrs gSaA 

flLVe l‚¶Vos;j daI;wVj l‚¶Vos;j gS ftls 

vU; l‚¶Vos;j ds fy, ,d eap çnku djus ds 

fy, fMt+kbu fd;k x;k gSA flLVe l‚¶+Vos;j 

ds mnkgj.kksa esa v‚ijsfVax flLVe tSls macOS 

vkSj Windows] dEI;wVs'kuy lkbal l‚¶+Vos;j] xse 

batu] vkS|ksfxd Lopkyu vkSj lsok vuqç;ksx 

ds -i esa l‚¶+Vos;j 'kkfey gSaA 

fMcxj ;k fMcfxax Vwy ,d daI;wVj çksxzke gS 

ftldk mi;ksx vU; çksxzke ¼"y{;" çksxzke½ dk 

ijh{k.k vkSj Mhcx djus ds fy, fd;k tkrk 

gSA --- mnkgj.k ds fy,] gks ldrk gS fd 

çksxzke us lhih;w ds orZeku laLdj.k ij 

miyCèk u gksus okys funZs'k dk mi;ksx djus 

dk ç;kl fd;k gks ;k vuqiyCèk ;k lajf{kr 

eseksjh rd igq¡pus dk ç;kl fd;k gks 

106- mÙkj- ¼lh½ 

fiDlsy daI;wVj LØhu ij lcls NksVk irk 

;ksX; fcanq gS 

107- mÙkj- ¼Mh½ 

MsVk ;k lwpuk dk fo'ys"k.k daI;wVj ds pkj 

çeq[k MsVk çkslsflax dk;ksZa esa ls ,d ugha gSA 

108- mÙkj- ¼Mh½ 

109- mÙkj- ¼ch½ 

110- mÙkj- ¼lh½ 

111- mÙkj- ¼lh½ 

vkbZih LiwfQax D;k gS\ vkbZih LiwfQax baVjusV 

çksVksd‚y ¼vkbZih½ iSdsV dk fuekZ.k gS ftlesa 

çs"kd dh igpku fNikus ds fy, ,d la'kksfèkr 

lzksr irk gksrk gS] fdlh vU; daI;wVj flLVe 

dk çfr-i.k djrk gS ;k nksuksaA ;g ,d ,slh 

rduhd gS ftldk mi;ksx vDlj cqjs 

vfHkusrkvksa }kjk y{; fMokbl ;k vklikl ds 

cqfu;knh <kaps ds f[kykQ DDoS geyksa dks ykxw 

djus ds fy, fd;k tkrk gSA 

112- mÙkj- ¼d½ 

Vªkstu g‚lZ ds ckjs esa- 

,d Vªkstu g‚lZ ,d ok;jl gS tks ,d 

mi;ksxh ,fIyds'ku gksus dk cgkuk djds ,d 

mi;ksxdrkZ dks MkmuyksM djus vkSj mUgsa 

fu"ikfnr djus ds fy, ew[kZ cuk ldrk gSA 

Vªkstu g‚lZ dks dHkh lcls [krjukd daI;wVj 

ok;jl ekuk tkrk Fkk ftls nqfu;k Hkj ds 

daI;wVj mi;ksxdrkZ vklkuh ls igpku ldrs 

gSaA 

113- mÙkj- lh 

114- mÙkj- a 

115- mÙkj% lh 

116- mÙkj - , 

117- mÙkj% ch 

118- mÙkj% lh 

119- mÙkj- , [dSfj;j lsal eYVhiy ,Dlsl] 

cl Vksiksy‚th dk lcls vke ,Dlsl rjhdk 

CSMA ;k dSfj;j lsal eYVhiy ,Dlsl gSA ;g 

,d ehfM;k ,Dlsl daVªksy gS ftldk mi;ksx 

MsVk çokg dks fu;af=r djus ds fy, fd;k 

tkrk gS rkfd MsVk v[kaMrk cuh jgs rkfd 

iSdsV [kks u tk,A 

120- mÙkj- ch [çksVksd‚y dUoVZj] 

,d çksVksd‚y dUoVZj ,d fMokbl gS ftldk 

mi;ksx ,d fMokbl ds ekud ;k ekfydkuk 

çksVksd‚y dks nwljs fMokbl ;k VwYl ds fy, 

mi;qä çksVksd‚y esa cnyus ds fy, fd;k tkrk 

gS rkfd baVjv‚ijsfcfyVh gkfly dh tk ldsA 



 

121- mÙkj- , [usVodZ baVjQsl dkMZ] 

NIC dk eryc usVodZ baVjQsl dkMZ gSA 

bldk mi;ksx daI;wVj dks ckgjh usVodZ ls 

tksM+us ds fy, fd;k tkrk gSA ihlh foLrkj 

Ly‚V esa ls fdlh ,d ls dusDV djus ds fy, 

blesa lkekU; -i ls ,d ihlhvkbZ dusDVj 

gksxkA 

122-mÙkj- lh [e‚Mse] 

e‚Mse ,d ,slk midj.k gS tks fMftVy 

flXuy dks ,uky‚x flXuy esa e‚MîwysVj ds -

i esa vkSj ,uky‚x flXuy dks fMftVy flXuy 

dks fMeksMqysVj ds -i esa ifjofrZr djrk gSA 

vrqY;dkfyd e‚Mse ?kM+h ds ctk; 

flaØukbt+s'ku ds fy, LVkVZ vkSj LV‚i fcV dk 

mi;ksx djrk gSA 

123-mÙkj- ch [F-iqV] 

F-iqV MsVk dk okLrfod eki gS ftls usVodZ 

ij Hkstk tk ldrk gSA ;g cSaMfoM~Fk ls vyx 

gS tks MsVk dh vfèkdre ek=k gS tks ,d 

usVodZ ds ekè;e ls ;k=k dj ldrk gSA 

124- mÙkj- lh [ok;jysl ,M‚IVj] 

ok;jysl ,MsIVj os gkMZos;j fMokbl gSa tks 

ok;jysl dusfDVfoVh dks l{ke djus ds fy, 

daI;wVj ds vanj LFkkfir gksrs gSaA ;fn daI;wVj 

esa ok;jysl ,M‚IVj ugha gS] rks og baVjusV 

,Dlsl djus ds fy, jkmVj ls dusDV ugha gks 

ik,xkA 

125- mÙkj- , [fQMksusV] 

 

REASONING 126-150 

Solution-(126-129) 

 
Answers- 

126. Bipin 

127.Vimla 

128.Savita 

129.0 

130.Option- (A) 

Option 2 is not valid as the statement 

clearly says that the sale is up till 31st Jan. 

Nothing like the sale of electronic goods 

will stop after 31st Jan is mentioned. So 

only option no 1 follows. 

131.Option- (D) 

Neither 1 nor 2 follows. This is because in 

the statement, nothing is mentioned about 

other countries. The statement only talks 

about India. 

132.Option- (C) 

Either 1 or 2 follows. As the statement 

says, only 2 possible outcomes are 

possible. One Shyam will be 1st in his class 

or he won’t be. But both the things cannot 

happen simultaneously. Hence option C is 

appropriate. 

133. ANSWER- Mit 

In the second and third statements, the 

common code is ‘hee’ and the common 

word is ‘horses’. So, ‘hee’ means ‘horses’. 

Thus, ‘sik’ means ‘large’ from second 

statement. 

In first and third statements, the common 

code is ‘pee’ and common word is ‘are’. 

So, ‘pee’ means ‘are’. 

Thus, ‘mit’ means ‘pigs’ from third 

statement. 

134. ANSWER- Fit 

In the first and second statements, the 

common code is ‘dan’ and the common 

word is ‘wrestler’. 

In the second and third statements, the 

common words is ‘fit’ and the common 

word is ‘is’. 

So, ‘fit’ means ‘is’. 

135. Option- (a) 

The speed of hour hand is 0.5 dpm (Degree 

per Minute) 

And the speed of minute hand is 6 dpm. 

So, 300 degree traverse by minute hand in 

300/6 = 50 Minutes. 

Thus, angle moved by the hour hand in 50 

minutes is 50/0.5 = 25° degrees. 

136. 



 

137. 

138. ANSWER- 20 km 

The billionaire drove 20 km in North 

direction initially. 

 

 
 

139. ANSWER- 3 

The elements are moved forward in a 

clock-wise direction by single step each 

time. Thus, the answer figure should be 

figure 3. 

140. ANSWER- M – J + R – N 

R is the niece of M means R is the 

daughter of brother or sister of M i.e. M – J 

+ R – N or M – J x R – N 

 

 
141. ANSWER- Brother-in-law 

F @ D % K # H means F is the husband of 

D who is the daughter of K who is the 

father of H i.e. F is the husband of D who 

is the sister of H i.e. F is H’s brother-in-

law. 

 

 
 

142. ANSWER- None follows 

 

 
143.ANSWER- None follows 

 

 
144. ANSWER- All follow 

 

 
145.ANSWER- A 

The pattern in the given series is -2, -3, -4, 

-5, -6 …. 

 

U __-2 __ S __-3 __ P __-4__ L __-5__ G 

__-6__ A 

So,the next term should be A 

146.ANSWER- XYZ 

The pattern here is +3 

i.e. (I → J → K ) __+3__ (N → O → P ) 

__+3__ (S → T → U ) __+3__ (X → Y → 

Z ) 

So, the next term should be XYZ. 

147.Answer- Option C 

The order is - 



 

Population 2 

Unemployment 4 

Poverty 1 

Disease 5 

Death 3 

148.Answer- Option D 

The order is - 

Education 3 

Job 5 

Income 1 

Status 2 

Well-being 4 

149.Answer- Option B 

Let Rs. x be the fare of city B from city A 

and Rs. y be the fare of city C from city A. 

Then, 2x + 3y = 77 ...(i) and 

3x + 2y = 73 ...(ii) 

Multiplying (i) by 3 and (ii) by 2 and 

subtracting, we get- 5y = 85 or y = 17. 

Putting y = 17 in (i), we get- x = 13. 

150.Answer- Option C 

Data inadequate 

 

GENERAL KNOWLEDGE 151 – 175 

151.Answer - C 

Kerala forest department has launched 

'Vanikaran' project to restore natural 

vegetation. It is an afforestation project to 

root out invasive plants, especially Senna 

spectabilis. 

152.Answer - A 

The 39th edition of India-Indonesia 

Coordinated Patrol (IND-INDO CORPAT) 

between the Indian Navy and the 

Indonesian Navy is being conducted from 

December 8 to 19. Indian Naval Ship 

(INS) Karmuk, an indigenously built 

missile corvette participated in the pre-

deployment briefing at Belawan, 

Indonesia. 
153.Answer - B 

Hyderabad Strikers has crowned as 

champions of 4th Tennis Premier League 

(TPL) 2022. The final of the 4th TPL was 

held in Pune, Maharashtra. Hyderabad 

Strikers beat Mumbai Leon Army (41-32) 

and was crowned champions of the event 

for the 2nd year in a row.... Read more at- 

https-

//currentaffairs.adda247.com/hyderabad-

strikers-crowned-as-champions-of-tennis-

premier-league-2022/ 

154.Answer - D 

 The Rajya Sabha passed the Energy 

Conservation (Amendment) Bill, 2022. 

The Bill seeks to amend the Energy 

Conservation Act, 2001. 

155.Answer - B 

'Dak Karmayogi' portal will enhance the 

competencies of about 4 lakh Gramin Dak 

Sevaks & Departmental employees by 

enabling the trainees to access the uniform 

standardized training content online or in 

blended campus mode to enable them to 

effectively deliver a number of G2C 

services for enhanced customer 

satisfaction. 

156.Answer - C 

Google on Wednesday announced an 

initiative, Startup School India, that aims 

to organise accumulated knowledge into a 

structured curriculum to enable startups in 

small cities overcome various challenges. 

Google hopes that the programme will help 

10,000 startups in tier 2 and tier 3 cities 

(smaller cities). 

157.Answer - D 

Madhya Pradesh's tribal-dominated 

Mandla region has become the first fully 

"functionally literate" district in the 

country. 

158.Answer - B 

Delhi Chief Minister, Arvind Kejriwal has 

formally unveiled his Aam Aadmi Party’s 



 

national ambition with the launch of the 

‘Make India No 1’ campaign. At an event 

organised at Talkatora stadium here, he 

proposed a five-point vision for good 

governance. The Aam Aadmi Party (AAP) 

national convenor termed the campaign a 

“national mission” and appealed to the 

masses to join. 

159.Answer - B 

Indian Navy will soon induct the country's 

first human-carrying drone named 

“Varuna", developed by the Indian startup 

Sagar Defence Engineering Private 

Limited in Pune. 

160.Answer - D 

Dr Ajay Parida. Eminent biologist, 

researcher and Director of Institute of Life 

Sciences (ILS), Bhubaneswar, Dr Ajay 

Parida passed away at the age of 58 in 

Guwahati on 21 July 2022. Dr Parida was 

conferred with Padma Shri in 2014 for his 

contribution in the field of Science and 

Technology. 

161.Answer - D 

A grand statue of Amar Shaheed 

Chandrashekhar Azad will be installed in 

Bhopal. At the base of the statue, soil 

brought from Bhabra, the birthplace of 

Azad, will be used and the statue site will 

be developed as a source of inspiration for 

the youth. 

162.Answer - C 

British Prime Minister Boris 

Johnson has presented Ukrainian President 

Volodymyr Zelenskyy with the Sir 

Winston Churchill Leadership Award. 

163.Answer - A 

Indermit Gill is Chief Economist of 

the World Bank Group and Senior Vice 

President for Development Economics. He 

brings to the role a broad combination of 

leadership, expertise, and practical 

experience working with governments on 

macroeconomic imbalances, growth, 

poverty, institutions, conflict, and climate 

change. 

164.Answer - B 

The growth forecast for 2023-34 is 

unchanged at 7.2 per cent, "sustained by 

positive effects from structural reform and 

from public investment catalysing private 

investment". Inflation in India is still 

expected to rise to 6.7 per cent in 2022-23 

before falling back to 5.8 per cent. 

165.Answer - C 

The Board of Control for Cricket in India 

gave the green light to Women's IPL in the 

board's Annual General Meeting (AGM) 

on Tuesday. The first edition of the 

tournament will be conducted in 2023. 

166.Answer - A 

Iris Xiomara Castro Sarmiento (Spanish 

pronunciation- [ˌsjoˈmaɾa ˈkastɾo]; born 30 

September 1959), also known as Xiomara 

Castro de Zelaya, is a Honduran politician 

who is the 56th president of Honduras, in 

office since January 2022. 

167.Answer - D 

Rafael Nadal defeated Daniil Medvedev in 

the final, 2–6, 6–7, 6–4, 6–4, 7–5 to win 

the men's singles tennis title at the 2022 

Australian Open. 
168.Answer - B 

January 28, 2022 marks the 157th birth 

anniversary of the freedom fighter, who is 

also popularly known as 'Punjab Kesari' or 

the 'Lion of Punjab'. 

169.Answer - B 

India has paid USD 29.9 million in UN 

regular budget assessments for the year 

2022. India joins the 2022 Honour Roll of 

24 Member States out of 193 that have 

paid their UN regular budget assessments 

in full. 

170.Answer - D 

T15 or Collarwali, the legendary tigress of 

Madhya Pradesh's Pench Tiger Reserve in 

Chhindwara district who earned the title of 

“super mom” after giving birth to 29 cubs, 

died after prolonged illness, officials said 

on Sunday. The tigress was 16. 

171.Answer - D 



 

The Asian Football Confederation (AFC) 

Women's Asian Cup India 2022 Organising 

Committee confirmed the venues of the 

tournament. D.Y. Patil Stadium in Navi 

Mumbai, TransStadia in Ahmedabad, and 

the Kalinga Stadium in Bhubaneswar will 

host the premier women's football 

competition, from January 20 to February 

6, 2022. 
172.Answer - B 

MEPs elected Roberta Metsola (EPP, MT) 

as President of the European Parliament 

until 2024, with 458 votes in the first 

round. 

173.Answer - A 

In the late 19th century CE, Georg Bühler 

advanced the idea that Brahmi was derived 

from the Semitic script and adapted by the 

Brahman scholars to suit the phonetic of 

Sanskrit and Prakrit. 

174.Answer - D 

aipur- Governor Kalraj 

Mishra laid the foundation stone for the 

construction of Constitution Park and other 

works at Raj Bhavan 

175.Answer - D 

V Anantha Nageswaran-Chief Economic 

Advisor to the Government of India 

151- mÙkj - lh 

dsjy ds ou foHkkx us çk—frd ouLifr dks 

cgky djus ds fy, 'o.khdj.k' ifj;kstuk 'kq- 

dh gSA ;g vkØked ikSèkksa] fo'ks"k -i ls lsuk 

LisDVsfcfyl dks tM+ ls [kRe djus ds fy, 

,d ouhdj.k ifj;kstuk gSA 

152- mÙkj - v 

Hkkjrh; ukSlsuk vkSj baMksusf'k;kbZ ukSlsuk ds 

chp Hkkjr&baMksusf'k;k lefUor x'rh 

¼IND&INDO CORPAT½ dk 39oka laLdj.k 8 ls 19 

fnlacj rd vk;ksftr fd;k tk jgk gSA 

csykou] baMksusf'k;k esa rSukrh czhfQaxA 

153- mÙkj - ch 

gSnjkckn LVªkbdlZ us pkSFks Vsful çhfe;j yhx 

¼Vhih,y½ 2022 ds pkSafi;u ds -i esa rkt 

iguk;k gSA pkSFks Vhih,y dk Qkbuy iq.ks] 

egkjk"Vª esa vk;ksftr fd;k x;k FkkA gSnjkckn 

LVªkbdlZ us eqacbZ fy;ksu vkeÊ ¼41&32½ dks 

gjk;k vkSj yxkrkj nwljs o"kZ bl vk;kstu ds 

pkSafi;u cusA 

&pkSafi;al&v‚Q&Vsful&çhfe;j&yhx&2022@ 

154- mÙkj - Mh 

  jkT;lHkk us ÅtkZ laj{k.k ¼la'kksèku½ fcy] 

2022 ikfjr fd;kA fcy ÅtkZ laj{k.k ,DV] 

2001 esa la'kksèku djuk pkgrk gSA 

155- mÙkj - ch 

'Mkd deZ;ksxh' iksVZy çf'k{kqvksa dks v‚uykbu 

;k fefJr dSail eksM esa ,d leku ekudh—r 

çf'k{k.k lkexzh dk mi;ksx djus esa l{ke 

cukdj yxHkx 4 yk[k xzkeh.k Mkd lsodksa 

vkSj foHkkxh; deZpkfj;ksa dh n{krkvksa dks 

c<+k,xk rkfd os csgrj xzkgd ds fy, çHkkoh -

i ls dbZ G2C lsok,a çnku dj ldsaA larqf"VA 

156- mÙkj - lh 

xwxy us cqèkokj dks LVkVZvi Ldwy bafM;k 

uked ,d igy dh ?kks"k.kk dh] ftldk mís'; 

lafpr Kku dks ,d lajfpr ikBîØe esa 

O;ofLFkr djuk gS rkfd NksVs 'kgjksa esa LVkVZvi 

fofHkUu pqukSfr;ksa ls mcj ldsaA xwxy dks 

mEehn gS fd bl dk;ZØe ls fV;j 2 vkSj 

fV;j 3 'kgjksa ¼NksVs 'kgjksa½ esa 10]000 LVkVZvIl 

dks enn feysxhA 

157- mÙkj - Mh 

eè; çns'k dk vkfnoklh cgqy eaMyk {ks= ns'k 

dk igyk "dk;kZRed -i ls lk{kj" ftyk cu 

x;k gSA 

158- mÙkj - ch 

fnYyh ds eq[;ea=h vjfoan dstjhoky us 'esd 

bafM;k uacj 1' vfHk;ku dh 'kq#vkr ds lkFk 

vkSipkfjd -i ls viuh vke vkneh ikVÊ dh 

jk"Vªh; egRokdka{kk dk vukoj.k fd;k gSA ;gka 

rkydVksjk LVsfM;e esa vk;ksftr ,d dk;ZØe 



 

esa mUgksaus lq'kklu ds fy, ikap lw=h; –

f"Vdks.k is'k fd;kA vke vkneh ikVÊ ¼vki½ ds 

jk"Vªh; la;kstd us vfHk;ku dks "jk"Vªh; fe'ku" 

djkj fn;k vkSj turk ls blesa 'kkfey gksus 

dh vihy dhA 

159- mÙkj - ch 

Hkkjrh; ukSlsuk tYn gh iq.ks esa Hkkjrh; 

LVkVZvi lkxj fMQsal bathfu;fjax çkbosV 

fyfeVsM }kjk fodflr ns'k dk igyk 

ekuo&okgd Mªksu "o#.k" 'kkfey djsxhA 

160- mÙkj - Mh 

M‚ vt; ijhnk ç[;kr thofoKkuh] 'kksèkdrkZ 

vkSj baLVhVîwV v‚Q ykbQ lkbalst ¼ILS½] 

HkqousÜoj d s funs'kd] M‚- vt; ifjnk dk 58 

o"kZ dh vk;q esa 21 tqykbZ 2022 dks xqokgkVh esa 

fuèku gks x;kA M‚- ifjnk dks 2014 esa in~e Jh 

ls lEekfur fd;k x;k FkkA foKku vkSj 

rduhdA 

161- mÙkj - Mh 

Hkksiky esa vej 'kghn paæ'ks[kj vktkn dh HkO; 

çfrek yxsxhA çfrek ds vkèkkj ij vktkn dh 

tUeLFkyh Hkkcjk ls ykbZ xbZ feêh dk mi;ksx 

fd;k tk,xk vkSj çfrek LFky dks ;qokvksa ds 

çsj.kk lzksr ds -i esa fodflr fd;k tk,xkA 

162- mÙkj - lh 

fczfV'k çèkku ea=h cksfjl t‚ulu us ;wØsuh 

jk"Vªifr oyksfMfej t+sysaLdh dks lj foaLVu 

pfpZy yhMjf'ki vokMZ ls lEekfur fd;k gSA 

163- mÙkj - v 

banjfer fxy foÜo cSad lewg ds eq[; 

vFkZ'kkL=h vkSj fodkl vFkZ'kkL= ds ofj"B 

mikè;{k gSaA og O;kid vkfFkZd vlarqyu] 

fodkl] xjhch] laLFkkuksa] la?k"kZ vkSj tyok;q 

ifjorZu ij ljdkjksa ds lkFk dke djus okys 

usr`Ro] fo'ks"kKrk vkSj O;kogkfjd vuqHko dk 

,d O;kid la;kstu ykrk gSA 

164- mÙkj - ch 

2023&34 ds fy, fodkl dk iwokZuqeku 7-2 

çfr'kr ij vifjofrZr gS] "lajpukRed lqèkkj 

vkSj futh fuos'k dks mRçsfjr djus okys 

lkoZtfud fuos'k ls ldkjkRed çHkko"A Hkkjr 

esa eqækLQhfr vHkh Hkh 2022&23 esa 5-8 çfr'kr 

rd fxjus ls igys 6-7 çfr'kr rd c<+us dh 

mEehn gSA 

165- mÙkj - lh 

Hkkjrh; fØdsV daVªksy cksMZ us eaxyokj dks 

cksMZ dh okf"kZd vke cSBd ¼,th,e½ esa efgyk 

vkbZih,y dks gjh >aMh ns nhA VwukZesaV dk 

igyk laLdj.k 2023 esa vk;ksftr fd;k 

tk,xkA 

166- mÙkj - v 

vkbfjl f'k;ksekjk dkL=ks ljfe,aVks ¼Lisfu'k 

mPpkj.k- [ˌ sjoˈma̍ a ˈkastɾo]( tUe 30 flracj 

1959½] ftls f'k;ksekjk dkL=ks Ms t+syk;k ds 

uke ls Hkh tkuk tkrk gS] ,d gksaMqju 

jktuhfrK gSa] tks tuojh 2022 ls dk;kZy; esa 

gksaMqjkl ds 56osa jk"Vªifr gSaA 

167- mÙkj - Mh 

jkQsy uMky us Qkbuy esa Msfu;y esnosnso dks 

2&6] 6&7] 6&4] 6&4] 7&5 ls gjkdj 2022 

v‚LVªsfy;u vksiu esa iq#"k ,dy Vsful f[krkc 

thrkA 

168- mÙkj - ch 

28 tuojh] 2022 dks Lora=rk lsukuh dh 

157oha t;arh gS] ftUgsa 'iatkc dsljh' ;k 

'iatkc dk 'ksj' ds uke ls Hkh tkuk tkrk gSA 

169- mÙkj - ch 

Hkkjr us o"kZ 2022 ds fy, la;qä jk"Vª ds 

fu;fer ctV vkdyu esa 29-9 fefy;u 

vejhdh Mkyj dk Hkqxrku fd;k gSA Hkkjr 193 

esa ls 24 lnL; ns'kksa ds 2022 lEeku lwph esa 

'kkfey gqvk gS ftUgksaus vius la;qä jk"Vª ds 

fu;fer ctV vkdyu dk iwjk Hkqxrku fd;k 

gSA 

170- mÙkj - Mh 



 

eè; çns'k ds fNanokM+k ftys ds isap Vkbxj 

fjtoZ dh ikSjkf.kd ckf?ku Vh 15 ;k 

d‚yjokyh] ftlus 29 'kkodksa dks tUe nsus ds 

ckn "lqij e‚e" dh mikfèk vftZr dh] yach 

chekjh ds ckn mldh e`R;q gks xbZ] vfèkdkfj;ksa 

us jfookj dks dgkA ckf?ku 16 lky dh FkhA 

171- mÙkj - Mh 

,f'k;kbZ QqVc‚y ifjla?k ¼AFC½ efgyk ,f'k;kbZ 

di Hkkjr 2022 vk;kstu lfefr us VwukZesaV ds 

LFkkuksa dh iqf"V dhA Mh- okbZA uoh eqacbZ esa 

ikfVy LVsfM;e] vgenkckn esa VªkalLVsfM;k 

vkSj HkqousÜoj esa dfyaxk LVsfM;e 20 tuojh ls 

6 Qjojh] 2022 rd çeq[k efgyk QqVc‚y 

çfr;ksfxrk dh estckuh djsxkA 

172- mÙkj - ch 

MEPs us 2024 rd ;wjksih; laln ds vè;{k ds -

i esa j‚cVkZ esV~lksyk ¼EPP] MT½ dks igys nkSj esa 

458 oksVksa ds lkFk pqukA 

173- mÙkj - v 

19oha 'krkCnh ds mÙkjkèkZ esa] t‚tZ cqgyj us bl 

fopkj dks vkxs c<+k;k fd czkãh dks lsfefVd 

fyfi ls fy;k x;k Fkk vkSj czkã.k fo}kuksa }kjk 

laL—r vkSj çk—r ds èoU;kRedrk ds vuq-i 

vuqdwfyr fd;k x;k FkkA 

174- mÙkj - Mh 

,vkbZiqj - jkT;iky dyjkt feJ us jktHkou 

esa dkaLVhVîw'ku ikdZ ds fuekZ.k lfgr vU; 

dk;ksZa dk f'kykU;kl fd;k 

175- mÙkj - Mh 

oh vuar ukxsÜoju- Hkkjr ljdkj ds eq[; 

vkfFkZd lykgdkj 

GENERAL MANAGEMENT 176-200 

176. Answer-c 

Professor Elton Mayo is known as the 

Father of the Human Relations Approach 

to Management Theory. From 1924 - 1932, 

he, along with Fritz Roethlisberger, T.N. 

Whitehead and William Dickson, 

conducted the Hawthorne studies (so 

named for the location of the studies - the 

Hawthorne Plan of Western Electric 

Company). 

177. Answer-d 

Product Category Valuation 

178. Answer-d 

Controlling is a primary goal-

oriented function of management in an 

organization. It is a process of comparing 

the actual performance with the set 

standards of the company to ensure that 

activities are performed according to the 

plans and if not then taking corrective 

action. 

179. Answer-b 

Organising includes designating authority, 

grouping tasks into departments, assigning 

tasks, and distributing assets across the 

association. 

180. Answer-c 

Reserve Bank of India has issued 

regulatory guidelines on Know Your 

Customer (KYC) norms / Anti Money 

Laundering (AML) Standards / Combating 

of Financing of Terrorism (CFT) from time 

to time. 

181. Answer-a 

Motivation is the set of forces that 

energize, direct and sustain behavior. 

Motivation is the driving force that causes 

the desire and willingness to achieve a set 

of goals or rewards. 

182. Answer-d 

Belongingness 

183. Answer-a 

Public deposits are the deposits that are 

directly raised by the public. The word 

“public deposits” states it all. 

184. Answer-d 

90-364 days 

185. Answer-b 

Management 

186. Answer-a 

Some common synonyms of effective 

are effectual, efficacious, and efficient. 

While all these words mean "producing or 



 

capable of producing a result," effective 

stresses the actual production of or the 

power to produce an effect. 

187. Answer-d 

At the most fundamental level, 

management is a discipline that consists of 

a set of five general functions- planning, 

organizing, staffing, leading and 

controlling. 

188. Answer-b 

The objective of the Securities Contracts 

(Regulations) Act, 1956 (SC(R)A) and the 

Securities and Exchange Board of Inida 

Act 1992 (SEBI Act) primarily is to protect 

the interest of the investors and 

development of the market through 

regulations. 

189. Answer-d 

As per this principle, authority can be 

delegated but accountability is absolute 

and cannot be delegated. The person who 

delegates authority remains accountable to 

his own boss for the work performance of 

his subordinates. 

190. Answer-b 

B2C 

191. Answer-d 

Recruitment refers to the process 

of identifying, attracting, interviewing, 

selecting, hiring and onboarding 

employees. In other words, it involves 

everything from the identification of 

a staffing need to filling it. Depending on 

the size of an organization, recruitment is 

the responsibility of a range of workers. 

192. Answer-c 

Marketing is the activity, set of 

institutions, and processes for creating, 

communicating, delivering, and 

exchanging offerings that have value for 

customers, clients, partners, and society at 

large. 

193. Answer-b 

Commercial paper is issued by a firm to raise 

funds for a short period of time, the time can 

be ranging from 90 days to 364 days after 

which it has to be redeemed. Commercial 

paper is an unsecured promissory note. 

194. Answer-d 

Controlling is the last management 

function which can be defined as the 

comparison between the actual 

performance and the planned performance 

so that corrective measures can be taken in 

case of any deviations or difference. 

195. Answer-d 

Henry Fayol, the father of principles of 

management, has classified managerial 

functions as follows- (a) Planning, 

including forecasting, (b) Organising, (c) 

Commanding, (d) Coordinating, and (e) 

Controlling. 

196. Answer-c 

Equity shares represents the ownership of a 

company, therefore the capital raised by 

issue of such shares is referred to as 

ownership capital and shareholders are 

called owners of the company. 

197. Answer-a 

Management is both an art and a science. 

Management combines features of both 

science as well as art. It is considered as a 

science because it has an organized body 

of knowledge which contains certain 

universal truth. 

198. Answer- a 

Necessary 

199. Answer-c 

Investment 

200.Answer-D 

Planning is the process of thinking about 

the activities required to achieve a desired 

goal. It is the first and foremost activity to 

achieve desired results. It involves the 

creation and maintenance of a plan, such as 

psychological aspects that require 

conceptual skills. 

 
176- mÙkj- lh 

çksQslj ,YVu es;ks dks çcaèku fl)kar ds 

ekuoh; lacaèk –f"Vdks.k ds tud ds -i esa 

tkuk tkrk gSA 1924 & 1932 rd] mUgksaus 



 

fÝV~t jksfFylcxZj] Vh-,u- OgkbVgsM vkSj 

fofy;e fMDlu us g‚FkksuZ vè;;u fd;k 

¼vè;;u ds LFkku ds uke ij & osLVuZ 

bysfDVªd daiuh dh g‚FkksuZ ;kstuk½A 

177- mÙkj- Mh 

mRikn Js.kh ewY;kadu 

178- mÙkj- Mh 

fu;a=.k ,d laxBu esa çcaèku dk ,d çkFkfed 

y{;&mUeq[k dk;Z gSA ;g daiuh ds fuèkkZfjr 

ekudksa ds lkFk okLrfod çn'kZu dh rqyuk 

djus dh ,d çfØ;k gS rkfd ;g lqfuf'pr 

fd;k tk lds fd xfrfofèk;ksa dks ;kstukvksa ds 

vuqlkj fu"ikfnr fd;k tkrk gS vkSj ;fn ugha 

rks lqèkkjkRed dkjZokbZ dh tkrh gSA 

179- mÙkj- ch 

vk;kstu esa çkfèkdj.k ukfer djuk] foHkkxksa esa 

dk;ksZa dks lewgh—r djuk] dk;ksZa dks lkSaiuk 

vkSj ,lksfl,'ku esa laifÙk dk forj.k djuk 

'kkfey gSA 

180- mÙkj- lh 

Hkkjrh; fjtoZ cSad us le;&le; ij vius 

xzkgd dks tkfu, ¼dsokbZlh½ ekunaM@èku'kksèku 

fuokj.k ¼,,e,y½ ekud@vkradokn ds 

foÙkiks"k.k dk eqdkcyk ¼lh,QVh½ ij fu;ked 

fn'kkfunZs'k tkjh fd, gSaA 

181- mÙkj- , 

vfHkçsj.kk mu 'kfä;ksa dk leqPp; gS tks 

O;ogkj dks lfØ;] çR;{k vkSj cuk, j[krh gSaA 

çsj.kk og çsjd 'kfä gS tks y{;ksa ;k iqjLdkjksa 

ds ,d lsV dks çkIr djus dh bPNk vkSj bPNk 

dk dkj.k curh gSA 

182- mÙkj- Mh 

viusiu 

183- mÙkj- , 

lkoZtfud tek os tek gSa tks lhèks turk }kjk 

mBk, tkrs gSaA 'kCn "lkoZtfud tek" ;g lc 

crkrk gSA 

184- mÙkj- Mh 

90&364 fnu 

185- mÙkj- ch 

çcaèk 

186- mÙkj- , 

çHkkoh ds dqN lkekU; lekukFkZd 'kCn çHkkoh] 

çHkkoksRiknd vkSj dq'ky gSaA tcfd bu lHkh 

'kCnksa dk vFkZ gS "ifj.kke mRiUu djus ;k 

mRiknu djus esa l{ke]" çHkkoh okLrfod 

mRiknu ;k çHkko mRiUu djus dh 'kfä ij 

tksj nsrk gSA 

187- mÙkj- Mh 

lcls ekSfyd Lrj ij] çcaèku ,d vuq'kklu gS 

ftlesa ikap lkekU; dk;ksZa dk ,d lsV gksrk gS- 

fu;kstu] vk;kstu] LVkfQax] usr̀Ro vkSj 

fu;a=.kA 

188- mÙkj- ch 

çfrHkwfr vuqcaèk ¼fofu;e½ vfèkfu;e] 1956 

¼,llh ¼vkj½ ,½ vkSj bfuMk vfèkfu;e 1992 

¼lsch vfèkfu;e½ ds çfrHkwfr vkSj fofue; cksMZ 

dk mís'; eq[; -i ls fu;eksa ds ekè;e ls 

fuos'kdksa ds fgrksa vkSj cktkj ds fodkl dh 

j{kk djuk gSA 

189- mÙkj- Mh 

bl fl)kar ds vuqlkj] vfèkdkj çR;k;ksftr 

fd;k tk ldrk gS ysfdu tokcnsgh iw.kZ gS 

vkSj bls çR;k;ksftr ugha fd;k tk ldrk gSA 

tks O;fä vfèkdkj lkSairk gS og vius 

vèkhuLFkksa ds dk;Z çn'kZu ds fy, vius ekfyd 

ds çfr tokcnsg jgrk gSA 

190- mÙkj- ch 

ch2lh 

191- mÙkj- Mh 

HkrÊ deZpkfj;ksa dh igpku djus] vkdf"kZr 

djus] lk{kkRdkj djus] p;u djus] dke ij 

j[kus vkSj v‚ucksfMZax dh çfØ;k dks lanfHkZr 

djrk gSA nwljs 'kCnksa esa] blesa LVkfQax dh 

igpku ls ysdj bls Hkjus rd lc dqN 

'kkfey gSA ,d laxBu ds vkdkj ds vkèkkj 

ij] HkrÊ deZpkfj;ksa dh ,d Js.kh dh ftEesnkjh 

gSA 

192- mÙkj- lh 

ekdZsfVax ,slh xfrfofèk gS] laLFkkuksa dk lsV gS] 

vkSj ,slh is'kd'kksa dks cukus] lapkj djus] 

forfjr djus vkSj vknku&çnku djus dh 

çfØ;k gS tks xzkgdksa] xzkgdksa] Hkkxhnkjksa vkSj 

cM+s iSekus ij lekt ds fy, ewY; j[krs gSaA 

193- mÙkj- ch 

okf.kfT;d i= ,d QeZ }kjk de le; ds 

fy, èku tqVkus ds fy, tkjh fd;k tkrk gS] 

;g le; 90 fnuksa ls ysdj 364 fnuksa rd gks 



 

ldrk gS ftlds ckn bls Hkquk;k tkuk gksrk 

gSA okf.kfT;d i= ,d vlqjf{kr opu i= gSA 

194- mÙkj- Mh 

fu;a=.k vafre çcaèku dk;Z gS ftls okLrfod 

çn'kZu vkSj fu;ksftr çn'kZu ds chp rqyuk ds 

-i esa ifjHkkf"kr fd;k tk ldrk gS rkfd fdlh 

Hkh fopyu ;k varj ds ekeys esa lqèkkjkRed 

mik; fd, tk ldsaA 

195- mÙkj- Mh 

çcaèku ds fl)karksa ds firk gsujh Qs;ksy us 

çcaèkdh; dk;ksZa dks fuEukuqlkj oxÊ—r fd;k 

gS- ¼,½ ;kstuk] iwokZuqeku lfgr] ¼ch½ vk;kstu] 

¼lh½ dekafMax] ¼Mh½ leUo;] vkSj ¼bZ½ fu;a=.kA 

196- mÙkj- lh 

bfDoVh 'ks;j ,d daiuh ds LokfeRo dk 

çfrfufèkRo djrs gSa] blfy, ,sls 'ks;jksa dks 

tkjh djds tqVkbZ xbZ iwath dks LokfeRo iwath 

dgk tkrk gS vkSj 'ks;jèkkjdksa dks daiuh dk 

ekfyd dgk tkrk gSA 

197- mÙkj- , 

çcaèku dyk vkSj foKku nksuksa gSA çcaèku foKku 

vkSj dyk nksuksa dh fo'ks"krkvksa dks tksM+rk gSA 

bls ,d foKku ekuk tkrk gS D;ksafd blesa 

Kku dk ,d laxfBr fudk; gksrk gS ftlesa 

dqN lkoZHkkSfed lR; gksrs gSaA 

198- mÙkj- , 

t+-jh 

199- mÙkj- lh 

fuos'k 

200- mÙkj- Mh 

fu;kstu okafNr y{; dks çkIr djus ds fy, 

vko';d xfrfofèk;ksa ds ckjs esa lkspus dh 

çfØ;k gSA okafNr ifj.kke çkIr djus ds fy, 

;g igyh vkSj lcls egRoiw.kZ xfrfofèk gSA 

blesa ,d ;kstuk dk fuekZ.k vkSj j[kj[kko 

'kkfey gS] tSls euksoSKkfud igyw ftuds fy, 

oSpkfjd dkS'ky dh vko';drk gksrh gSA 

 

 

 


